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How many days are there in a week?

(1)Five (2)Six (3) Seven (4) Eight

Which of the following is a fruit?
(1) Carrot (2) Apple (3) Potato (4) Broccoli



( 3 ) 43. What is the capital of France?
(1) Berlin (2) Madrid (3) Paris (4) Rome

( 4 ) 44. Canyou me the way to the station?
(1) tells (2)telling (3)told (4) tell

( 2 ) 45. Which sentence uses the correct past tense?
(1) I buyed a new book last week.
(2) I bought a new book last week.
(3) I buying a new book last week.
(4) I buys a new book last week.

( 3 ) 46. He very happy yesterday.
(1)is (2)are (3)was (4) were

( 2 ) 47. Which sentence is correct?
(1) She go to school every day.
(2) She goes to school every day.
(3) She going to school every day.
(4) She gone to school every day.



John is a student at Riverside Elementary School. He wakes up at 7:00 AM
every day and gets ready for school. He eats breakfast at 7:30 AM and then
walks to school with his friend, Peter. They arrive at school by 8:00 AM. John
enjoys his classes, especially math and science. During recess, he plays soccer
with his classmates. After school, John goés to the library to read books or do
his homework. He usually goes home at 5:00 PM. In the evening, he has dinner

with his family and then watches TV for an hour. John goes to bed at 9:00 PM.

( 2 ) 48, Whattime does John wake up every day?
(1)6:00AM (2) 7:00 AM (3) 730 AM  (4) 8:00 AM

( 3) 49. What does John do during recess?
(1) He reads books. (2) He does his homework.

(3) He plays soccer. (4) He watches TV.
( 2) 50. Where does John go after school?

(1) Home (2) The library (3) The playground (4) A friend's house






